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QUESTION 1

Virtualization is environmentally friendly because which of the following? 

A. It costs less to implement 

B. It is easier to maintain 

C. Servers generate less heat 

D. Helps reduce amount of energy consumed 

Correct Answer: D 

 

QUESTION 2

Which of the following expansion cards should be installed in a server to allow the server to connect to a SAN via a fiber
channel? 

A. SATA 

B. iSCSI 

C. SCSI 

D. HBA 

Correct Answer: D 

 

QUESTION 3

After performing the initial steps in installing the server OS from a DVD-ROM, the server reboots and goes back into the
setup wizard. Which of the following is the MOST likely cause for this problem? 

A. The DVD-ROM drive has failed. 

B. An installation file copied from the DVD to the hard drive is corrupt. 

C. Faulty OS installation DVD. 

D. Incorrect boot sequence in the BIOS. 

Correct Answer: D 

 

QUESTION 4

Which of the following provides the MOST redundancy for a corporate server network? 

A. Server-to-server replication 
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B. Server clustering 

C. Hot site 

D. Disk-to-disk replication 

Correct Answer: C 

 

QUESTION 5

A workstation is added to a newly created subnet using 192.168.100.0/24. A DHCP server is available on subnet
192.168.101.0/24. The user is unable to lease an address from the DHCP server. Which of the following would BEST
resolve the problem? 

A. Assign the workstation a static IP address. 

B. Add a second DHCP server to the 192.168.101.0/24 subnet. 

C. Add a DHCP relay to the 192.168.100.0/24 subnet. 

D. Add a DHCP server to the 192.168.100.0/24 subnet. 

Correct Answer: C 
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